
Hard Disk Drive Type 240 
(B663) 

 



 

 
 

 
  1.HDD Type 240 (B663)..........................................  2 
PARTS INDEX ..........................................................  5 

Hard Disk Drive Type 240 (B663) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 
 

 

February ,5 ' 2004 



2 

 
 

1.HDD Type 240 (B663) 



3 

 1 B663 5113  Gasket:20 1 
 2 B663 5111  Gasket:HDD:Side 2 
 3 B663 5112  Gasket:HDD:Lengthwise 2 
 4 B663 5102  Bracket:HDD:Side 1 
 5 AA16 1125  Rubber Cushion 4 
 6 AA14 3499  Stepped Screw 4 
 7 B663 5731  Harness:DC:HDD 1 
 8 AA14 3781  Binding Screw - M3x3.5 6 
 9 A294 1506  HDD Ground Plate 2 
 10 A295 5177  HDD:ATA:ST340014A 1 
 11 B663 5105  Cover:HDD:Adhesion 1 
 12 B663 5730  Harness:DC:HDD:Power Source 1 
 
 
 
 
 
 
 
 

 101 0951 3006B Philips Screw With Flat Washer-M3x6  
 102 1105 0529  Nylon Clamp-emt-3n  
 103 0313 0040B Philips Pan Head Screw - M3x4  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Description Q’ty Per 
Assembly 

Part No. Index 
No. 

Description Q’ty Per 
Assembly 

Part No. Index 
No. 

1.HDD Type 240 (B663) 



 

 
 

Parts Index 



6 

B663 5102  Bracket:HDD:Side   3 -   4 
B663 5105  Cover:HDD:Adhesion   3 -  11 
B663 5111  Gasket:HDD:Side   3 -   2 
B663 5112  Gasket:HDD:Lengthwise   3 -   3 
B663 5113  Gasket:20   3 -   1 
B663 5730  Harness:DC:HDD:Power Source   3 -  12 
B663 5731  Harness:DC:HDD   3 -   7 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

A294 1506  HDD Ground Plate   3 -   9 
A295 5177  HDD:ATA:ST340014A   3 -  10 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Parts Index 
Description Page and 

Index No. 
Part No. Description Page and 

Index No. 
Part No. 



7 

AA14 3499  Stepped Screw   3 -   6 
AA14 3781  Binding Screw - M3x3.5   3 -   8 
AA16 1125  Rubber Cushion   3 -   5 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

0313 0040B Philips Pan Head Screw - M3x4   3 -103 
0951 3006B Philips Screw With Flat Washer-M3x6   3 -101 
1105 0529  Nylon Clamp-emt-3n   3 -102 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Description Page and 
Index No. 

Part No. Description Page and 
Index No. 

Part No. 


	1.HDD Type 240 (B663) 
	Parts Index 

